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QUESTION 1

Which statement is NOT TRUE about Delta synchronization?

A. Using UDP Multicast or Broadcast on port 8161

B. Using UDP Multicast or Broadcast on port 8116

C. Quicker than Full sync

D. Transfers changes in the Kernel tables between cluster members.
Correct Answer: A

Reference: https://scl.checkpoint.com/documents/R76/CP_R76_ClusterXL_AdminGuide/7288.htm

QUESTION 2

What makes Anti-Bot unique compared to other Threat Prevention mechanisms, such as URL Filtering, Anti-Virus, IPS,
and Threat Emulation?

A. Anti-Bot is the only countermeasure against unknown malware

B. Anti-Bot is the only protection mechanism which starts a counter-attack against known Command and Control
Centers

C. Anti-Bot is the only signature-based method of malware protection.

D. Anti-Bot is a post-infection malware protection to prevent a host from establishing a connection to a Command and
Control Center.

Correct Answer: D

Reference: https://scl.checkpoint.com/documents/R76/CP_R76_AntiBotAntiVirus_AdminGuide/index.html

QUESTION 3

The system administrator of a company is trying to find out why acceleration is not working for the traffic. The traffic is
allowed according to the rule base and checked for viruses. But it is not accelerated.

What is the most likely reason that the traffic is not accelerated?

A. There is a virus found. Traffic is still allowed but not accelerated.
B. The connection required a Security server.

C. Acceleration is not enabled.

D. The traffic is originating from the gateway itself.
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Correct Answer: D

QUESTION 4

Which command is used to add users to or from existing roles?
A. Add rba user roles

B. Add rba user

C. Add user roles

D. Add user

Correct Answer: A

Reference: https://scl.checkpoint.com/documents/R76/CP_R76_Gaia_WebAdmin/73101.htm

QUESTION 5

SandBlast offers busineses flexibility in implementation based on their individual business needs. What is an option for
deployment of Check Point SandBlast Zero-Day Protection?

A. Smart Cloud Service
B. Any Cloud Service

C. Threat Agent Service
D. Public Cloud Service

Correct Answer: A
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